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QUESTION 1

You have been asked to import an Excel spreadsheet. What will lead to substantial differences between the original
Excel spreadsheet and the resulting SAS data set? 

A. the number of rows to be read from the Excel file 

B. the number of columns to be read from the Excel file 

C. multiple value types within a single column 

D. multiple value types within a single row 

Correct Answer: C 

 

QUESTION 2

Which SAS program will apply the data set label \\'Demographics\\' to the data set named DEMO? 

A. data demo (label=\\'Demographics\\'); set demo; run; 

B. data demo; set demo (label=\\'Demographics\\'); run; 

C. data demo (label \\'Demographics\\'); set demo; run; 

D. data demo; set demo; label demo= \\'Demographics\\'; run; 

Correct Answer: A 

 

QUESTION 3

The following SAS program is submitted. 
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What result is displayed for the variable COUNT? 

A. 1 

B. 2 

C. 3C.3 

D. 4D.4 

Correct Answer: C 

 

QUESTION 4

Given the data set WORK.BP with the following variable list: 
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Which output will be created by the program? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: D 

 

QUESTION 5
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Review the following procedure format: 

What is the required type of data for the variable in this procedure? 

A. Character 

B. Continuous 

C. Categorical 

D. Treatment 

Correct Answer: B 
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